
Arms - T Style Adjustable - Myon Active (REDL, REFL)



Arms - T Style Adjustable - Myon Active (REDL, REFL)
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1449987 T-Arm Assembly, Central w/ Hardware, Desk

Length - Right
1 11

Pad, Arm, Desk Length 1 12
Arm Pad Mounting Assembly - Left 1 13
Tube, Mounting, Adjustable 1 14
NLA - Support, Armrest 1 15
Guard, Clothing 1 16
Bracket, Clothing Guard 1 27
Screw, Socket Head (M12 x 12.5) 1 18
Bushing, Armrest 1 19
Nut, Square, Armrest 1 110
Screw, Countersunk (M4.8) 1 211
Screw (M4.2 - 16 8.8) 1 412
Screw, Socket Head (M6 x 50) 1 213
NLA - Locknut (M6 x 1) 1 214

1449988 T-Arm Assembly, Central w/ Hardware, Desk
Length - Left

1 11
Pad, Arm, Desk Length 1 12
Arm Pad Mounting Assembly - Right 1 13
Tube, Mounting, Adjustable 1 14
NLA - Support, Armrest 1 15
Guard, Clothing 1 16
Bracket, Clothing Guard 1 27
Screw, Socket Head (M12 x 12.5) 1 18
Bushing, Armrest 1 19
Nut, Square, Armrest 1 110
Screw, Countersunk (M4.8) 1 211
Screw (M4.2 - 16 8.8) 1 412
Screw, Socket Head (M6 x 50) 1 213
NLA - Locknut (M6 x 1) 1 214

1450015 T-Arm Assembly, Central w/ Hardware, Full Length -
Right

1 11
Pad, Arm, Full Length 1 12
Arm Pad Mounting Assembly - Left 1 13
Tube, Mounting, Adjustable 1 14
NLA - Support, Armrest 1 15
Guard, Clothing 1 16
Bracket, Clothing Guard 1 27
Screw, Socket Head (M12 x 12.5) 1 18
Bushing, Armrest 1 19
Nut, Square, Armrest 1 110
Screw, Countersunk (M4.8) 1 211
Screw (M4.2 - 16 8.8) 1 412
Screw, Socket Head (M6 x 50) 1 213
NLA - Locknut (M6 x 1) 1 214

1450016 T-Arm Assembly, Central w/ Hardware, Full Length -
Left

1 11
Pad, Arm, Full Length 1 12



Arms - T Style Adjustable - Myon Active (REDL, REFL)
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
Tube, Mounting, Adjustable 1 13
Arm Pad Mounting Assembly - Right 1 14
Screw, Socket Head (M6 x 50) 1 25
NLA - Support, Armrest 1 16
Guard, Clothing 1 17
Bracket, Clothing Guard 1 28
Screw, Socket Head (M12 x 12.5) 1 19
Bushing, Armrest 1 110
Nut, Square, Armrest 1 111
Screw, Countersunk (M4.8) 1 212
Screw (M4.2 - 16 8.8) 1 413
Screw, Socket Head (M6 x 50) 1 214

 


